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H P 1 321 000 244 000
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= I 2 328 000 485 000
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/3 Ik 2 919 000 570 000
i N 1 980 000 390 000
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B * 7 239 000 1 547 000
T &3 6 197 000 1 291 000
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Z 1| 9 096 000 1 999 000
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1 18] 1 070 000 201 000
e ) 1 156 000 230 000
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it [if] 3 705 000 719 000
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It gals 2 610 000 559 000
K %3 8 836 000 1 946 000
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&= B 1 376 000 285 000
w1l 971 000 181 000
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S 5 2 833 000 568 000
18] = 1 408 000 254 000
& = 764 000 142 000
*H JI 981 000 186 000
g % 1 395 000 263 000
= psil 738 000 132 000
g [if] 5 091 000 1 .090 000
e (o 835 000 161 000
= 53 1 386 000 258 000
fE ZIN 1 794 000 343 000
x g 1 171 000 218 000
=4 53 1 114 000 208 000
B 1 668 000 315 000
P e 1 421 000 311 000
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15~195% 2 930 000
15 576 000
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17 583 000
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25~29 3 264 000
30~34 3 678 000
35~39 4 277 000
40~44 4 837 000
45~49 4 279 000
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